
 

Eg Problem 1 53
For H g A H 217.97kt mole
this is taking mole of H2 and creaty

mole of H

Hi Ui Pilli pi latin
Hf Ug Pp Vf Pf Pi

SH ΔUt PAV
AU AH RAV
what is ΔV
Ideal gas Vi Mike me Emote

f Eff Mg mole

assume Ti Tf room temperature
ΔV ing Mi Rfp Rfi Vi



i DU DH PSV
DH Pi Ifi

SV SH IRT
217.97 1 3 1mole

mole 8.314 Jmol K 300k

SU 216.7 103J for mole

fun 2 2 3 1 non's

4 5eV

Problem 1.51 HW Glucose

6H12 Out 602 6602 6H20
The SH in the back of the book isfor creating Imle of substone fromit's stable elemental constituents

what is the net effect
LHS Imagine breaking sugar downinto C Hz 02 what SH is

required
RHS forming CO2 al H2O get
Sit back what's the net


